Year 2 Maths Week beginning 8th June 2020
Subtraction
Task 1:

Complete these number sentences showing your working out using a number line. Start from
the smallest number and count up to the largest number in ones. Count the number of jumps
you have done and that is your answer.

1. 15-6=
2. 11-8=
3. 14-3=
4. 12-7=
5. 17-3=
6. 15-7=
7. 12-4=
8. 18-9=




Task 2:

Complete these number sentences showing your working out using a number line. Start
from the smallest number and count up to the next ten in ones. Then count on in tens until
you reach the biggest number. Count the number of jumps you have done and that is your
answer.

1. 20-8=
2. 50-9=
3. 60-6=
4. 40-8=
5. 50-3=
6. 60-9=
7. 30-5=

8. 20-7=




Task 3

Complete these number sentences showing your working out using a number line. Start
from the smallest number and count up to the next ten in ones. Then count on in tens until
you reach the nearest 10 to the largest number and then finally complete the jumps in ones.
Count the number of jumps you have done and that is your answer.

1. 25-8=  (Countinonesfrom 8 up to 10. Count in tens from 10 to 20. Count in ones
from 20 to 25. Add up the jumps)

2. 52-9=
3. 63-9-=
4. 47-8=
5. 56-7=
6. 65-19=
7. 32-15=

8. 29-27=




Task 4:

Solve these real life word problems, showing the number sentence you use and the working
out using a number line.

1.

Ralph has 15 balloons and he pops 4
balloons. How many balloons does he have
left?

Eg:15-4=

Max buys 13 oranges and eats 5 of them.
How many oranges does he have left?

Sam has 25p to spend and buys a toy for 12p.
How much does he have to spend now?

Tim has 50p. He buys a sweet for 15p. How
much money does he have left?

Jack’s mum gives him 40p to spend and he
buys a packet of crisps for 23p. How much
change does he get?




Task 5:

Solve these real life word problems, showing the number sentence you use and the working
out using a number line.

1. Mandy had 24 gems and her sister gave her
12 more. She then dropped 3 on the floor.
How many gems did she has she got now?

2. Erin had 45p in her pocket and she found 5p
more. She then spent 13p. How much money
does she have left?

3. |have 47p and get given another 23p in
pocket money. | spend 20p on sweets. How
much money do | have left?

4. Aran measures 75 ml of milk and then spills
20ml on the floor. He then drinks 25ml. How
much milk does he have left?

5. Sarah is 186cm tall. Her brother is 20cm
shorter than Sarah and her little sister is
24cm shorter than him. How tall is her little
sister?




